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,4// questions carry equal marks. (15 marks each).

Anempt any fve queslions.

Use of simple calculator is allowed.
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Define secondary data. State the chief sources. 3,.5=15

Explain the concept of statistical significance. What does

the statement means'the sample mean is significant at

the 5olo level of significance" ?

Explain the terms :

(, Type I dnd Type II enors,

(ir) Critical region.

1fr-frq*' $f-s-sr d cftqrfud +1tqSr F{r+ g@

*a qarrir

qifis*?q qdq.m q1 €rqqrrql ff ffiqsr
o1&qr mc-{ "5% sr4fi' * wr c{ tq cre
qr*o t" q,r 3r{ EFcr t ?

frq q-r efi elfsTq :

(,) fqgq*I3fuur?6R
(,,) M *al

The arithmetic mean of two observations is 25 and their

geometric mean is 15. Find :

(0 their harmonic meant

(r, the two observations. 5
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(E) i{q ff * qrz fuqcfi qi yqrq t++e-r

qi rTEHT elfsq :

Class width Frequency

0-5

5 10

r0-15

t5-20 t3

20 25 2t

25--30 16

(a) Describe a normal distribution with a graphical sketch

in context of probability and its properties. 5

(b) Suppose three coins are tossed together. List the

element of the sample space, the corresponding

probability and the coresponding values of weights (h)

of the random variable H, where H is the number of

heads appear. Give pictorial representation of probability

mass function using line graph. l0

(

I

(b) Calculate the median and mode from the following

data : l0

Value Cumulative frequency

Less than l0

Less than 20

Less than 30

Less than 40

Less than 50

Less .than 60

Less than 70

Less than 80

(sT) i effi*s:ii * eiryrFrfrq qTLq 25 f,qT qrFrfrq

qT$4 15 t r q-+* :

(,) E{fef6- ftarmonic) ITtzl

2

5

7

4

l6

4

m

!x

t2

120

t25

(
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(q) t{q otii*-fl t qrftTtr qi egs+' ft1 "ronr (
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(a) What is dispersion ? Discuss the merits and demerits

of:

(, Range;

(r, Mean Deviation. 5

(r) Calculate the mean deviation and standard devialion

from the following data : l0

Class width Frcqmncy

0-5 2

5-10 5

tG-15 7

15-20 13

n-25 2t

2r-30 t6

(s{) t{flq sqr t ?

(0 t{RR

(,r) qlq fErftn,

d W qq er+5uil or Rqc fr1kSr
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Value

Less than l0

Less than 20

Less than 30

Less than 40

Less than 50

Less than 60

Less than 70

Less than 80

(q) What is skewness ? How does it difler from dispersion ?

Describe at leasl two measures of skevmess. 5

(b) A frequency distribution gives the following results :

(, coefficient of variation is 5,

(a) variance is 4,

(iO Karl Pearson's coemcient of skewness is 0.5.

Find the mean and mode-of the distribution. 5

Cumulative frequency

4

l6

40
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Find third and founh moments about the rn"an fo, th"

set 2, 3, 7, E and lO. 5

frqrdr qqr t ? qe vs{q i +i.Rri t ?

frqqil + 6q t Fc i qql ql fr++c Eifrql

qm sdsrdr kd{sr ffl4 qftqrq tar t :

(r) f{q{q Iqi6 = s,

(r, v{Rul = 4,

1ii4 frvrm Er u-rd frqCr 1od6r 0.5 tr

tq-rwr + qrq qs egil*' nrd fr1fqqr

{T[ 2, 3, z, s etR ro d feq qnq t *sn
gti +vt qftqrc vn c,icqr

Suppose X is binomially distributed with parameters n

ana p. if EtXl = 5 and Var[X] = 4, find n and p. 5

In a bolt factory machines A, B, C manufacture

respectively 25, 35 and 40 percent of the total. Out of

their output 5, 4 aJrd 2 percent are def€ctive bolts. A

P.T.O.

6. (q)

(b)

(c)

(or)

(s)

(R)

Define the term 'Correlation' and 'Regression'. What is

the relation between coefficient of correlation and

regression coeflicients ? 5

The correlation coefficient between the variables X and

Y is r = 0.60. If standard deviation for X is 1.50, standard

deviation for Y is 2.00, Mean for X variable is l0 and

mean value for Y variable is 20. Find the equatio4 of

the regression line :

(, YonX;

(r,) X on Y. 5

Define "kurtosis" and "skewness". 5

"etridq" qei "yfrqrm'l +1 qftgnfuo qtfeqr
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bolt is drawn from the produce and is found defective.

What are the probabilities that it was manufactured by

A. B and C ? (Using Bayes' theorem) l0

(q) qrtr t+' x m-+e , (q p * qrq qffi ffico

tr qR efxl =sSivartxl=4,ft agepnrd

elfqS r

(q) qs +€ ffi qvfl-l e, B, c Eo * m'qvr:

25. 3s qEi +o sfr{rd Ec61 556 tr 
"o-S 

qo

Tf,rfi il 5,4 qEi 2 cFd{rd +€ s<rq tr eerq

€ $6', qre (.r 5q s 5tr qnr 6 nsfl ERrq

cF qrdr g, ylfufi-ar Hr t td- ?16 A, B nqr

c gnr esrka t+-qFrqr t ? (+q vtq or

scArr 6ifuq)

Do Lasperes's and Paasche's price index met the Factor

Reversal Test ? Explain. 5

(7 )
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Commodities Price (Rs.)

1979

Quantity

1919

Price (Rs.)

1980

Quantity

l9E0

B

C

D

n

50

{)

n

8

l0

l5

m

&

0

50

n

6

5

t0

l5

s. (a)

(D) Calculate Fisher's ideal index using the following data.

Does it satisfo the time reversal test ? l0

(e{) flr ffi \'q qlt + qiiqd q{6ifi il€ %ffiqoT

qiq 4t 1rI sla t 7 Rql qifuqt

(s) frq ff ml Bcfrt 1.G Eq fryR + srTEd

qs-difi sh1 rrrrqr qlfqqr qqr q6 q{q eld6qrr

Sq +l riue o,ot tr

Commodities Pric€ (Rs.)

1979 t979

Price (Rs.)

1980

Qrantity

1980

n

50

q

n

8

l0

t5

n

4

fr

50

m

6

5

l0

l5
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